Ee
N 1
N w
o8 v
T £ Z|I<|I& pay
) 9 T z Z\ g g
= E = 2 3 F Sl2)a i
T c M £ <)) N — |0 —
(& QR €= £ (G @ 8 Sl BN o
_— 5% [ - i 2 8l egl.. -]
WB = c o o T _lt.r..r.D_n
- @ £ T 0 o o g 0| C|®| ®©
R - o o £ © c S - — (L ajaao
L X @© = £ o 2 =1 < < f
Qo Q® ~N < [ o [%2]
b - £6 g o o ¢ S = ‘® 5 w
— £ 0 I~ c [ Q o b 0 [©)
[ = 2 > 0 © @ 1
o o= o e e »n 2
= Q0 = [ - o ] c n'd
T c ©
= <9 Jo c 0O o c S 5 c = o <
o S 5T o £ Q B = E c \
> ¢ 52 £ 2¢ 2 2 5 % 3 e 2 = > & @ m Y
- 1
[l .. =5 [ = 3 . = ) ol I ] o - a o i~ &
= 5 53 <o 33 8l £ 2 ¥ £ o 8l € 3 B o E £ ¢ 5 |2 %)
=T S ©E e~ ©0 < 8 5 8 ¢ @ IS S 8 @ w z 5§ 8 g put [= u
c co X = = 5 S N < © 3 o S 2 ® T C w ) X c
S o n — 8 > ~ 8 > 7)) » 0 =] oy A N | :@ | :@
& © S8 BE 2 T o0 o o 5 2 T & 9 2 g £ o £ 2 S 90|08
o S£ =+ rE & m O & 4O = & m W Z b = 0 o0 F A o o oL
,%e%
\
\

e
P
\ - W@ ”

X P

\
RO
N

1965 4, 72,

25, 4

siehe Planung EIS1

1,725
E
— — &
—_ E o
sgs € _
R8¢ E W
g m
2,02 25, 11,13 25, 279 25, 1,665 13, A %
£ le .
E z
g
g
N
N
N /. LT MW
N 5§57
N
N s 3
AN nm, =
N N mmowy 3 6.12°
AN +
N
N
N
N
N\ |
N |
N
N |
N |
h |
N
/ |
N
N |
N !
N
N . Eiswerderstrafie
N
N
N
N
N
N

Liftungstum

Liftungsturm

1.80

T

30y 4

2,50

\\\\\\\\\ d
G254 |

|

|

Einbringsffnung

Liftungsturm

Wartungstiir

o |
8 K
~ o o
2 !
w I
= | S BS tg———————
o .2
2 [
© g g |
o & S
2 !
o' /[ /)] /A= 4 B
RN NN | ——— o o % \\\\\\\\\
|
g |
g
o S
3
E |
=]
\\\\\\\\\\\ 1 o
a |
=1 R 7
3
N |
4 I
o o % \\\\\\\\\
|
3 g |
o E o
E ,
12 8
; e
=] =] 7
o) =] 7
) S
|
4 O
o o % \\\\\\\\\
|
[=] [=] 7
3 g
o o 7
|
BS 4 s ——————————
o
=] =] 7
o) =] 7
) S
|
4 O
o o % \\\\\\\\\
|
[=] [=] 7
3 g
o o 7
|
BS + g
5]
=] =] 7
o) =] 7
) R
|
|
1€ O
I 5 PO |
] g
= Sl
5 3
o 3
o - ——_————————
o o)
[se)
[
BS |
g |
3
9 |
3
) |
|
|
4 I
o o % \\\\\\\\\
|
[=] [=] 7
3 3
o o 7
|
BS t -
<
=] =] 7
o) ] 7
) R
|
|
4 O
o o w \\\\\\\\\
.44
|
[=] [=] 7
3 3
o o 7
|
o ol
3 3
) R
TE be
=] 2 i=]
g 2 g
&
€ 3
E E
S
3
— o BS
€D
i
2
S 3|
c o)
© b
o b
@
=
K3} 4 4
7] S S
8| g
S S
3 3
& o
o ol
3 3
) R
oS4 oS4
8| g
S S
3 3
& o
E
o E ol
3 = 3
J B R
£
oS4 oS4
8| g
S S
3 3
& o
o ol
3 3
) R
oS4 oS4
8| g
S S
3 3
& o
o ol
3 3
) R
L
<2
i 4 4
> s S
=2 8| g
>
=
< 9
3
o 3 o
@ 3
< @
2 BS
w
3 E T
K- o
& 3
H E
E
oS4 o4
8| g
S|
3
o S
3
E
BS o
3
o |
3
oS4 o4
g g
S S|
3 3
& )
£
{8 4
£
5
o B
3 3
& b
o4 o4
B g
S S|
3 3
) )
|
| ol
3 2
& 5
| |
© 3 | | 23
¥y —— a4 O I¥
>4 >
/.
/.
N\
/.
AN
AN
AN
AN
AN
AN
AN
AN
AN
N
AN
AN
AN
AN
AN
N
AN
AN
\
\
\

siehe Planung EIS1

siehe Planung EIS1

siehe Planung EIS1

siehe Planung EIS1

Versickerungsspeicher

LBIH

Versickerungsspeicher

L/B/H

89,60/0,8;1,36
89,90m*

V=

89,60/0,8;1,36
=89,90m*

Vv

89,60/0,8;1,36
=89,90m*

Vv

L/B/H
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